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#include<bits/stdc++.h>
using namespace std;
const int N=1e5+5;
int n,m;
struct nod{

int 1,r,val=0;
ra[N*4];

void bt(int x,int 1,int r){
alx].1=1;
a[x].r=r;
if(1==r) return ;

int mid=Cl+r)>>1;
bt(x*2, T,mid);
bt(x*2+1,mid+1, r);

void chg(int x,int pos,int k){
ifca[x].l==a[x].r){

a[x].val=k;
return ;

}
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int mid=(a[x].1+a[x].r)>>1;
if(pos<=mid) chg(x*2 ,pos,k);

else chg(x*2+1,pos,k);
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a[x].val=min(a[x*2].val,a[x*2+1].val);

int que(int x,int T,int r){
ifCa[x].1==1&&a[x].r==r) return a[x].val;
int mid=Ca[x].1+a[x].r)>>1;

if(r<=mid) return que(x*2,1,r);
else if(mid<1) return que(x*2+1,1,r);
else return min(que(x*2,1,mid),que(x*2+1,mid+1,r));

int main(Q{
cin>>n>>m;
bt(1,1,n);
for(int x,i=1l;i<=n;i++){
scanf("%d",&x) ;

chg(1,1,x);

}

int k,x,y;

whiTle(m--){
scanf("%d %d %d",&k,&x,&y);
if(k==1) printf("%d ",que(l,x,y));
if(k==2) chg(l,x,y);

}

return 0;
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